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SECTION—A
( Inorganic Chemistry )
( Marks : 27 )

1. o7 St Ak Shrea 1x3=3

Select the correct answer :
(a) SFg® T8 (211 5533 T _
The hybridization involved in SFy is o
) sp® f (i) sp°d
(iii) sp3d2 (iv} sp2
(b) TS i QPR FIR T T DA

The correct order of melting points of the compounds given below is
{ii NaCl < NaBr < Nal < NaF
(i) Nal <NaBr <NaCl <NaF
(iii) NaF <NaCl < NaBr < Nal
. fiv) NaCl <NaBr <NaF <Nal
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(c)

Cu* SRS YF1 SYA TEF RM LI

The vnumb i i i
er of unpaired electrons in Cu? ion is

2 X
(i) O fiv) 1
2. oS fidl RS Tew ford
g Answer the following questions : 2o
<2+ . . .
fa) Ni?* wmma g Rt PR s g R/ 9@ F=41) 1+1=2
2* jon and find out the number

(b)

(c)

(@)

(b)

~f{c

P9/208

Write the electronic configuration of Ni
of unpaired electrons in it.

awm{ﬁmﬁ{é?Nogwwwmmn 191
) +1=2

What do you mean by resonance? Write th i
i e possible resonati
structures of Nog ion. : . nating

bR e A & o0 7 &= fl (PR ¢t iRes Im @2

NaCl 5T CsCl '
FRq wofia 1+1=2
What do you mean by lattice energy? Which of the following has more

lattice energy?
NaCl or CsCl

Give reason.

! 3. oo I oI 1 2R b o o Ax2m6
Answer any two questions of the following : ' '

SR 1 3P R T 7 NI 2o e R OW@&I"W%W| 1+2=3
What is ionization energy? “The first ionization energy of N is more
than O.” Give reason.

meﬁqm?C%Gmmm@mmeu@W.

FR FOial | 1+2=3
What do you mean by dipole moment? CO, molecule is non-polar

although its bonds are polar. Give reason.
AR SARCGR AR A (LCAQ) {ﬁzﬂﬁ T ? TS SAaerTE B wea
?ﬁ Tﬁﬁ ﬁf”ﬂ | 1+2=3

What do you mean by linear combination of atomic orbital (LCAO)?
Explain it using diagram and suitable example.



4. o7rs fn R cren fofbt endy T fopn - 3x3=9
Answer any three questions of the following :
fa) VSEPR O] ZHS XeF, W 2157 1 4 | ' 3
Explain the structure of XeF, molecule on the basis of VSEPR theory.
(b) memnwﬁm AP foote @R FARE QR o R 2
1%+1%=3
LiF, NaCl, KCl, RbCl

Write briefly about Fajan’s rules. Among the folldwing compounds,
which has the highest melting point and why?

LiF, NaCl, KCl, RbCl
() RTINS WF FHIMRT PG IR T A BRI Py R
TR O-ARG Ferots @R 1 PR v | 1%+1%=3

Write the differences between intramolecular and intermolecular
H-bonding. “P-nitrophenol has more melting point than O-mtrophenol »
Given reason.

(d) NRF SRRDT W 7AT CO W NOT Wi TARGPRE 2o Rt B
IR T 1%+1%=3

With the help of molecular orbital theory, write down the electronic

configuration of the molecular orbitals of CO and 'NO. Also find their
bond order.

5. oS fART @*/e 5 (Grat o = : Y 1Yx0=83
Write short notes on the following : » -
(a) ¥¥9/Hybridization
(b) @%¥ RST/Redox potential

SECTION—B
( Physical Chemistry )
( Marks : 26 )

6. Qﬁw?ﬂﬁ%ﬁﬁiﬂ: 7 ,‘A‘1x3=3
Choose the correct answer :

() ST CRFRDI (IR ST TR iR i 2

Which of the following is the expression for molar Kinetic energy of
-gas molecules?

0 P @

o 3 ., 3
(i) ERT | (iv) EKT |

Po/208 | 3 [PTo,



(b) TR CFICH] SRR ST SIS SR *Pbm P Fq1 =2+

Which of the following apparatus is used to determine surface tension of
a liquid in the laboratory? : .

() B’ AtR
Stalagmometer
(i) =EAEN 53 bR

Ostwald’s viscometer

(i) PreRcR

Pyknometer : si
() AR o

Barometer

(c) TRIFRA THFS wqumﬁmwnw

The number of symmetry elements present in a cubic crystal is

() 16 i) 32
(tij) 23 (iv) 24
. oo R I @i e TET o
Answer any one question of the following :
(@ () CTER R R TR S | R e el W B oo e
w I . » H 1+2=3
Define collision frequency of gas molecules. Discuss the effect of
temperature and pressure on it.
(ii) 27°cwf54gw4aﬁﬁmcmw=ﬁm%ﬂﬁmww. 1412
Calculate the kinetic energy of 4 g and 4 mole methane molecules
at 27 °C.
B () o S S TR G g R 2 25 °C Bewrs 1 31 Co, v iy
SERAM @ N F9 2 .
+2=
What do you mean by most probable speed of gas molécules 2=3
Calculate the most probable speed of 1 mole CO, gas at 25 :s
i e pig BT 7R BIIS WA 191 4R T R wmes o ey YR Tt

P9/208
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«Molar heat capacity at constant pressure of a gas is aly

than the molar heat capacity at constant volume ” Whyiy; higher
' Xplain.



8. o R I 1 2n e o

. 4x2=8

~

Answer any two questions of the following :

(@) () IBI (TR GBI W (SIRT SBR[ RS Cﬂ\‘ﬁﬁ?ﬂ?‘lﬁ? R v6% IR ¢o1r
bR e CorRd IR IR 2 2+1=3
What are the causes of deviation of real gases from ideal behaviour?
Under what condition a real gas will behave like an ideal gas?

(i) FRCITANA BN vreen i | o ' 1

Define compressibility factor. ' |

() (i) cmmmﬁnvcmm%mm@mmﬁa? 1+1=2
How does viscosity arise in a gas? How does viscosity of a gas
change with temperature?

(i) TRTOR T IFRA B 3o 7 e TmRereme Hifdce fow o 1+1=2
What is meant by degrees of freedom? Write the law of equipartition
of energy. ‘ A ' '

(c) IAIS 5% T 7 I CAIRY S NS FHRRFATD! Bopdiiy F40 1 1%+2Y%=4

What are reduced variables? Derive the reduced equation of state for

real gases.

9. ool R @I @B 2R T ot 5
Answer any one question of the following :
(@ () IR wexfian ’ ‘ 1+1=2
Explain why :
(1) N I B GO ¥4 |
Vapour pressure of water is comparatively low.
(2) ‘Tarel R AN oA T A 1o IR oI | ‘
Vapour pressure of a liquid increases with increasing
temperature.

(i) RTINS TIoR BRI D1 SR IO 36 3+ | | 3
Describe the drop number method for determination of surface
tension of a liquid in the laboratory. '

) ) PR woofia - 1+1=2
Explain why :

po/208

(1) SR G T (PR W |
Liquid drops are always spherical.

@) PeeR Tme Whasle AR = |
Viscosity of glycerol is higher than that of ethanol.

S [P.T.0,



(i) 298Km@c§‘cﬂﬂa’ﬁ%ﬁamﬂw¢ﬁﬂﬁacﬁ°ﬂa 3000 ¢omam o' |

m%msmmmtmwﬁrmamazo CIRT 251 1 3ff 298 K

TS I WF (T SO Y TN 0-998 gem™ WI1F 0.9614 gorm -3

T I AR R T 7275 dyne cm™! =g SRR (9 ST o
, ©
Aefa 1) ,
3

At 298 K, the number of drops of water counted in g stalagmomete

is 300 whereas the number of drops for same volume of an or ‘r
liquid is 320. If densities of water and the organic liqﬁid at 2395;1’11;

are 0-998 gem ™3 and 0.9614 gem ™3 respectively, and the surface

tension of water is 7275 dyné cm‘l, calculate th
€ surface .
of the organic liquid. 5 tension

10. °7 R e bt o e o ' :
Answer any one Quesﬁgfn' of the following : S

P9/208

@ ()

i)

® )  piteq Rl B 7 F o @Wﬁ’iﬁ%awwwm,

(i)

m@wqﬁﬁﬁw?ﬁﬁawwﬁammwmﬁm@
1 90 | . ; 1+1%=01,
What do you mean by unit cell? Calculate the number of atom

per unit cell in different types of cubic unijt cell. °

PR SNFIHT B | X-ray Regza «Frsr «bre 0134 nm SIFRALY X-
94U T RwET W, @AW 63 I\ 10-5 NIWE@WW@};I.;:

fRefy a1 1 (sin10-5°=0-1822) | -
Write Bragg’s equation. In a diffraction experiment, X.ra ; Y
wavelength 0-134 nm gave first-order diffractiop when t’he va]y :
6 was 10:5°. Calculate the distance between the planes j ue of
crystal. (sin10-5°=0-1822) . in the

1+2=3

What is crystal defect? Write the differenceg betwe
en Schottky and

Frenkel defects.
woTe AR €7Re B GO il (R ctean iy

Write a short note on the following (any on o :

(1) IfSs P13
Bravais lattice

@) I-ETRE
Born-Haber cycle
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SECTION—C

( Organic Chemistry )
( Marks : 27 )

11. 3% Seach Ak Bfean o . 1x3=3

Choose the correct answer

(a) STRA® IR T IR e 79T AR (= TR AN
Homolytic bond fission of a covalent bond results in the formation of
) T& T
free radicals
(i) FECIOE
carbocation
(iii} IR
carbanion
(iv) (i) S (iii) TCEol
both (i) and (i)
(b) TR (IO NS (I T3 FIRE WR ?
Which one of the following series contains only electrophﬂes?
i) H,0, SOz, H0" (i) NHg, AICl;, SO,
(i) HaO%, SO4, AlCl, (i) BFj, SO, R-NH,

(c) FIHTIORT TIPS TR

The shape of carbocation is
() R
linear
(i) TSR
planar
(i) Pt
pyramidal

(iv) STFIH

tetrahedral

[ [PT.0,



12. o] R} @1 fofo! e Bes forar -

Answer any three questions of the following :

(a)

(b)
c)

()

13. ©o’ R @ oD 2R e o

FRTT i) ol | e SRR AT S SRTOR T SrE T |

Define carbanion. Mention the stability and reactivity order of alkyl
carbanions. _

i REATeR s oqLF b1 TArIPTE I <1 |

Explain briefly about hyperconjugation with the help of an example.
IR o ARG vieEn far | W ORI T ifiRerem 91 = 2

- Define carbene and nitrene. How are each of them classified?

HA, HB W HC 01 3 0 pK,3 TR 0% T 2-14, 342 5 2-86 |
I R SForR THFTS v )

The pK, values of three hypothetical acids HA, HB and HC are 2-] 4,
3-42 and 2-86 respectively. Arrange these acids in the .increasing order
of their acidic strength. ‘

Answer any four questions of the following :

(@)

(b)

(c)

(d)

-P9/208

ST eiTpelel SR TS n-REG TSR FTPIAR NPHE SR S = oy |

With the help of Newmann projection formula, draw the possible
conformations of n-butane molecule and assign their names,

mmw@w@wwwwmwmww
XY T FRNIPTR (ST !

Draw the most stable conformat.ion- of cyclohexane and show all axia]
and equatorial H-atoms present in it.

oo RSO R A ST TR I 1 2
Assign R or S of the following configurations :

CH,0H HyCHj COOH
(i H ___‘___ NH, (ii) Br CH,OH (iii) CH,4 —

CHs CHs OH

oo SAE FACEAFOR E N Z3 7RIS TR 3 -
Assign E or Z of the following geometrical isomers -

CH,CH :
CH3CH2\ C/Cl i 3 2\C C/H H,
' c= = i H
(l) Bl'/ \CH3 Br \CH3 ( ) CHa

H

2x3=6

3x4=12



14.

p9/208

(e) TTe AR T iR oRs +91 o R arse SR Sigve R -
ST ST S :

Identify the chiral centres of the following compounds and draw their
possible optical isomers with the help of Fisher projection formula :

() CHZCH,CH(BI)CH,
(i) CH,CHNH,)COOH.
(ifi) CHZCH(OH)COOH

v R crea Fofer erme Tee o - 2x3=6

Answer any three questions of the following :

(@) TR Rp-ROMT AUR 72RO LA (AR 280 ¥ W ? wﬁraﬁmm
390

How can ethane be prepared with the help of Kolbe’s electrolytic method?
Explain giving chemical reactions. i

(b) Wﬁmﬁw"&ww:z-ﬁmaﬁWW|
With the help of Wurtz reaction, convert ethane into n-butane

(c) ﬁzmwﬁmwﬁmﬁﬁﬁfnﬁﬂwwn

Discuss the mechanism of chlorination of methane.

(d) FR-ZT5 CAR TS n-CACH 9ES 1 |
How can n-pentane be prepared with the help of Corey-House synthesis?

[PTo,



( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours ,
The figures in the margin indicate full marks for the questions

Write the answers to the separate Sections in separate books

SECTION—A

( Inorganic Chemistry )
( Marks : 27 )

1. % eI AR e :

Choose the correct answer::

(a) TR SHHHS! T (TR

Heisenberg’s uncertainty principle is

o ax-b =Z:Tn (if Ax.Ap=va
var h o ; "
(i) Ax-Apz— - () AAx Apsa

(b) IR e SRR e wHiReF AR?
Which has the largest first ionization energy?
oL @ Na
i X () Rb

() 03 I 05 9 I T TR
The bond order of 0} and O3 is

M 2,3 (.ii) 9, 2:5
i) 15 25 () 25, 1

2. oo R Al T 21 TSI o : |
Answer any fwo questions of the following :

(a) mm«mmmmmml

Explain pauli’s exclusion principle with example.

(v) @WW@WW,WW|

Glycerol is more viscous than glycol. Explain why.

10

P9/208

1x3=3

3x2=6



3.

4.

(c) Fcrm T e T2 NO3 I F8I) FE ToaeIA P 1

What is resonance? Write down the possible resonating structures

of NO3 .
o R @ FobT e Bes o | 3x3=9
Answer any three questions of the following : -
@ (i) %A RN QTS (VTR AR A n, [, mOF s3I T @ef w1 2
Determine the values of n, I, m and s for the valence shell electrons
of sodium atom.

(i) SRR TGN RAP B S el (e (51 XAE SR, N | 1
Write the electronic configuration of chromium and write how many
electrons are there in the valence shell.

(b) €1 G SR e R 2 RS wrRvad =R I auw SR R et
afR & ? 1+2=3
What is ionization energy of an element? Why is the value of the second
ionization energy much higher than that of the first ionization energy?

() 2P5Wﬁsqm?2dww%aﬁlm$m 1%+1%=3
What do you mean by 2p°? 2d orbital does not exist. Explain.
Explain the structure of PClg on the basis of hybridization.

oo i e FoRb! erea T o - 3x3=9

Answer any three questions of the following :

o @ PR ,
What is lattice energy?
(i) TR TR foran 1 >

Write briefly Fajan’s rule.

(b) seig SRSl ¥ 7 ls’iﬁ’%‘ﬂ?ﬁ g FERe R @74 S |

What is electron probability function? Draw the radial probability curye
for 1s electron.

11

p9/208 [Pro,



() () wora TFPTRS oM~ 3RS e =t a1 . 1%
Calculate the lattice energy of potassium bromide from the following
data :
-1 _
(AH ) =108-5 kJ mol (AH__ )key =-381-8 kJ mol !
-1
(AHdis)Br2 =243-0 kJ mol (IP)k =495-2 kJ mol~!
(EA)g, =-348-3 kJ mol ™'

(i) AIF; T® sericE I09 oY fF7 AlC1, RE sFie Tal FR ol 1 e
¥4 ' 1'%
AlF, is high melting solid while AICl, is low melting volatile solid

"Explain.
@ ERISH o ¢ e f o @R | 1
How many quantum numbers are there and what are they? Explain
(ii) q@mwﬁwmwfﬁaw«a@ﬁmmﬁﬁm ST 40 ) 1%+%4=0

Draw the molecular orbital energy diagram of oxygen molecule and
" calculate the bond order.

SECTION—B

( Physical Chemistry )
( Marks : 26 )

5. w5 Y0 AR e Lo
Choose the correct answer :
e S (TR VIR O 4R Cp SF Cy T SRS XA

(a) 961 9T
The ratio of molar heat capacities Cp and Cy, of an ideal monatomic gas is
i) 105 (i) 1-67
i) 177 (iv} 2-66

" Wﬁwﬁmwmﬁmm?
Which one of the following is correct for vapour pressure of a liquid?
0 | 1ol ¥ 20 TomE @R T3

Boiling point will be high when vapour pressure is low

e low when vapour pressure is low

(ii) .
Boiling point Will P
e AT PR @S TR TS 63 791
Boiling point does not depend on the vapour pressure

(iv) & g1e </ None of the above

(i)

12
pP9/208



(c) TIPS TS 4T T AP oM S 29

Total number of symmetry elements present in a cubic crystal is

M 20 : (i) 24
(i} 32 fiv) 23
6. o R I bl 23 g foran | 5

(@ () T IFE @R @ fw 1T N, ¢RI SR 27 °C Twwrs % @ @
il <91 | 1+1=2
Define root-mean-square speed. Calculate the root-mean-square
speed of 1 mole N, gas molecule at 27 °C.

(i) TR FRIRE T DR eoS Tl WF TR S/ el 4 | 1+2=3
Define collision frequency. Explain the effect of temperature and
pressure on it.

b) ) RS @ GO ¢F AMRF Wed (TR (FqE 7Y TGS VAR S G
A 3R S &3 519 VAR O 4 I S R. 3
Show that for an ideal monatomic gas molar heat capacity at
constant- volume is %R and molar heat capacity at constant
pressure is %R.

i) CTRR AfE FNITIT RN VAR e PRI T 1 2
Derive the expression for molar kinetic energy from kinetic gas
equation.

’. wﬁm@mwﬁm: } 4x2=8
Answer any two questions of the following :
@ ﬂmmﬂﬁ‘l CoTR G PV = mawmﬂwmw o=y
A AR IR, 0 1) 5
Explain how van der Waals’ modified volume term in the ideal gas
equation PV =nRT for real gases.
(ii) mcmmaﬂ%&ﬁwmﬁum«mm 146 °C WIF 935 atm.
S OR A FTF a WIF bI TH 5411 37 | 2
The critical temperature and critical pressure of a gas are 14¢ °C
and 93-5 atm respectively. Calculate the van der Waals’ Constants
a and b.
13
po/208 [ P.'I‘_Q.

Answer any one question of the following :



(b)

(i) FACIAN @R e | TR TGES WA (R BR A o o[
Rpfs cryea) @b @ B/ A W% B (T SFHATEA TR T T
09 W 0-7 T, (101 ¢=d RS @R 2’32 1+1%+1%4=3
Define compressibility factor. Show the deviation of real gases from
ideal behaviour with the help of it. If at a certain pressure two gases
A and B posses the value of compressibility factor 09 and 0-7
respectively, which gas will deviate more from ideal behaviour?
(i) FATOR T e & @0 1
What do you mean by degrees of freedom?
(c) SF TR W AW WS CTF TGN FIFAN PRI Svedn 1 ‘orgen
RT, 8 ’
Pch = g' , 3+1=4
Deduce critical constants with the help of van der Waalg’ :
RT, 8 . | $° equation.
Show that =—.
PV, 3
8. oo R @I <1 ena Teq i - , 5

Answer any one question of the following :

(a)

(b)

P9/208

() Tl UF SEIEIRE TR GRS TER AW T @I T 73, amm

391 | 1+1=2
Explain how vapour pressure of a liquid depends upon temperature
and intermolecular forces of attraction.

(i) mquﬁﬂﬁ‘ﬁﬁ%(ﬁﬂﬁﬂ&%ﬁ%ﬁﬂﬁt 3

Describe the drop number method for determination of surface
tension of a liquid in the laboratory.

() e 1x3=3
Explain why :
(1) o e ot RTSLF 3 |

Vapour pressure of water is less than benzene.

e AE! et QR | \

viscosity of glycerol is higher than ethanol.

wqe (BTl ST COTRTd =

2

3

Liquid drops are always spherical.

14



(i) 298 K Twore oo 'fRT REe o IR MR e 30081 o e |
AT THOIS FAARST 1 L T (BN SR 320 COIRT o957 | I 208 K
THOTS A A (T SITMDR TG T 0998 gem S % 0-9614 gem ™3

2 O IR SBOFR T 7275 dyne cm™! =, CSRTE Lo SIBN B
efa a1 ) 2

At 298 K, the number of drops of water counted in a stalagmometer
is 300 whereas the number of drops for same volume of an organic
liquid is 320. If densities of water and the organic liquid at 298 K
are 0-998 gem ™3 and 0.9614 gem ™3 respectively, and the surface

tension of water is 72-75 dyne cm™1, calculate the surface tension
of the organic liquid.

9. oK [ (A1 Gt 2= Twg forgy 5

Answer any one question of the following :

@ () PR pes R2 o e o RfG oo F1 @ s 3:2:1
i’zawaaﬁmwwﬁi’av 1%+1%=3

What are Miller indices? A crystal plane has intercepts on the
three axes of crystal in the ratio 3:2:1. What are the Miller indices

of the plane?

(i) B W G T (221) TR TRR wEISAW IAM AR T AW Wy
ive’ tfl 45 A=W | : 1

Calculate the interplanar spacing between two (221) planes of
a cubic lattice of length 45 A. ‘

(i) 25 ANFIIRHT o | 1
Write Bragg’s equation.

) () o 0T e B2 3R oeRe e R R 7 o R B T 3wy
ﬁ"‘ﬂl < : l+1+1=3

What do you mean by liquid crystals? Give the types of liquiq
crystals. Mention two important applications of liquid crystals,

(i) ETFA F TR R *neferca Trme 390 |
Mention the differences between Schottky and Frenkel defect.

15
p9/208 : [P



10.

11.

SECTION—C

( Organic Chemistry )

( Marks : 27 )
% TSl AR Sfere : 1x3<3
Choose the correct answer :
() PEfRS FRCFORIR *F1 SHReLF JRA0H AR Shre :
Find out the most stable carbocation from the following :
i) Me,CH (i) MeCH,
(ifi} H,C=CH—CH, (iv) Ex,
(b) TS BTEY T NPT *[1 TR SCAfYST Y@ =431 (oD AR, Sy -
Which of the following molecules can exhibit geometrical isomerism?
(i) (H3C)2C=CHz (ii) H3CCH=CH, ’
Lhe
(iii) H3C—CHCH=CH, " (iv) H3CCH=CHCH,
(c) RS QPR o[l e TR0 AR Bforea -
Find out the nucleophiles from the following :
H,0); (CHg), NH; CN; BF3; AICk; '
ool A e Fofbr s T3 91 2x3=6

Answer any three questions of the following :

(@) @R e @71 | sp AT @ @Bt (T N Www TH T AN Yar Yo+ 10
Define hybridization. Name oné Sp hybridized molecule and explain its

formation.
(b) =S TEY T el (AR I O 7 (ORI Fiopeaihy
T : Yor1%4en

Select from the following compounds that will show hyperconjugation.
Draw the possible hyperconjugative forms of the molecule :

() HoC=CH,

(i) HzCCH=CHy
—— LR AR ,

f account on inductive effect with example,

{c)

Write a brie

16
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(d) Wmﬁwaawmwmﬂm@camﬁmmm?wmww

(e)

R *R1 R PRECH AR S o FfyaeR FReT <00 <947 : Yot Var1=2

Name the intermediate obtained as a result of homolysis. Find the stable
radical from the following and explain the reason of 'stability :

(i) +CH,
(i) HzC0)5C
(ii)) (CeHg)zC

‘XA Gforels FRINAT Gftra Sl @R 1’ I 7 | 2

“Chloroethanoic acid is stronger than ethanoic acid.” Explain.

12. oo} R @ 5161 o e o 2x4=8

Answer any four questions from the following :

p9/208

(@)

(b)

(c)

T TR {741 ) OIRF TRFW AR SN SR | 1+1=2

Define conformation. Draw the ‘chair’ conformation of cyclohexane,

Wmﬂquw@mﬁhwmﬁmﬁwmﬁw
SR | QPRI IR TR B 1 (R e o) - 1+1=2
Identify the chiral centres of the following compounds and draw their

possible optical isomers with the help of Fischer projection formula
(any two) :

() H,CCH(OHCOOH
i) HzCCH,CH(BrCH,CH,CH,
i) HaCCHNH,CH(CH,),

ACHE ACACE B AN Z, RS R fo5 A1 Gy @R Rowest ©o Qg
AREIT 391 ¢ Vax4=9
Assign the following as E or Z, R or S and cis or trans stereoisomers, where
necessary :

. H,OH ) H3C\C_C/ H
(i ) H—C—NH, (ii) =

CHj

.oy Cl H . ,
(i) \C=C: (iv) H—C—OH
H” Cl CH,OH

17 [PTq



(d)

(e)

“RRfR-2 9 TRR SRR @ 1” T o | 2

“Butene-2 is able to show geometrical isomerism.” Explain

mﬁ’tﬁi‘rﬁzﬁ aftre e oeeed SR IR QROR S el {1 781 W= 2
AR FI ’

7 2
Draw the Fischer projection formula of mesotartaric acid Wh is thi
compound unable to show optical isomerism? Explain. i =

() e ST AT @ W AT ST I Qe ) 141=2
Define centre of symmetry and axis of i )
Define symmetry with one example
13. oo R coen Fofedr epq T8 31 : 2x3=6
X 3=

Answer any three questions of the following :

(a)

(b)

(c)

(d)

(e)

P9/208

e e #Rw o R oo A o et fiw R owfds
? RitFrz TR
fornf3fR forit
e o | 1+1=2
What happens when sunlight is passed through the mixture of methane

and chlorine gas? Write the chemical reaction and mechanism of it

$Wﬁmmﬁmcmmaﬁﬁmuﬁmmﬂwaﬁm 5

Write the preparation of ethene gas with the help of Kolbe’s reaction

Give chemical reaction.

ST (PRI TR o , ,
State Saytzeff rule with example. :

State nitration of penzene and discuss the mechanism of the reaction
ﬁﬂm,ﬁmmm(ﬁ T o) ¢ 1xams

Write the product with chemical reaction (any two) :

() e R T T9S e
When phenol is heated with zinc
coraEea BeiRfee o' PR ST FRG T 37 IReT Ridn <ita fice

When propene is allowed to react with h
. ydr . .
presence of peroxide ogen bromide in

opofie SIF 3 R WS Rfzen w53t fca
When propyne is treated with bromine gas

(@)

(ifi)
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14. w1 fr RIFPRR T 731 (R coren wifiy)

Complete the following reactions (any four) :

1x4=4
(i) H3C—?HCH2CH3 + KOH (alc.) ——» 7
Br

Br Br
(ll) H3C —CH3 + Zn T._) ?
Br Br

(iii) @ + conc. Hy,80, —8% 5>

(iv)y HC=aCNa + C,Hs—Br >2

() H3C—CH,—CmC—H — 120/HgS04/H,80,

(m-)’ HC=CH(g) red hot iron tube _ >

-

(vii) H3C—CHy—CH=CH, anhydrs:us AlCl, 5

LA B

p9—9500/208 19 1 SEMTDC CHM G 1 (v,




